Zroll B0l 48 A2 2 52

@ 77 27 _87 -4 @ 7’ 87 _871
@ -7,8,-8,-1 ® -7.8,-8,1

(@)7, 8,-8,-1

B

3x+7=-5x-1
3x+bx=-1-7
8x = -8
Lx=-1

wtabA] HiZke ol 5 A2 2| 7,8,-8, -1 ©|th,




8x—-24=9-3+ 3x
5x = 30
Lx=6




o mn

filo

S Bx—4=Tx+55 OlFotd mx+n =029 B2 13
o] Fr22(, m > 0)

® -13 @ -36 @36

| ©

9
© -7 @




ax = b 7} AAPAAC] H=H a # 0 o]ojof Tk,
X+7=5-ax

(I1+a)x=-2

w2bA] a4+ 1 # 0 ]t

|




o= AR AS & of2, o JFolA 2 5 Zxt
7ko) djof sfgsts SAE Zrot Al <49 - A
gHA Yoozt = =
0 F
1 <
2 3t
1 1 5 1
@) %x % G © %x 1
X
fe_ = = 1=- 1
© i),x c 12 1 ® 5x+ 5x+
- 1== —
@) 4x+ 2x+2

1 1 5 =

2x—3=-5,2x=-2

ax=-1-5=

1 -
@ jx-1=-29] E] 28 Fohd

x—2=-4

Lx=-2->7

2 1 xO O]: O F1=
@Ex-6=§4 ¥l 62 FotH

4x -1 = 3x

2 1 =

2%+5=x+5
Lx=0-F
1 ]. 10 O]: = 31 =]
x+4=2x+2

Lx=2-73F




_ 2 3

o] FRIA] 2 = 0| 5]

A2 4] R 4 e et 2
® -2 @)-1 ® 0 @ 1

® 2

Frid 12 § FotH
8x+9=1

8x = -8

x=-1




7.

ohe WA

ald

filo
iz

6x—14=3(5+3x)-6

23 23
O-F T
@ Yy @x:—?

6x—14=3(5+3x) -6
6x—14=15+9x-6
3x=-23

23

X ==

3




N ©

o) 45 FstH
12— (1-x) =4(2+x)
12-1+x=4x+38
3x=3

Lx=1




of
o
>

= 0.7(x-2) 9] sf& FshH?

J
N w
=
|
ol w

@_1 @ -2 B3 -3 @ -4

® =

gl 10 & F3t4A
15x—6 = 7(x_2)
15x—6="Tx—-14
8x = -8

Lx=-1




10. A4 02(x+3)-1=04x—

5—2x

B

o] sf=?
-3 @n ® 2 @ 3 o
6
oFd o] B o] 2 ATH|2-0l 10-S o) Z+2 ZstH

2x+6—-10=4x—-10+4x
6 = 6x
Lx=1




oha 1§74 o] ol Fotefet,
_4x-1
5

0.6x

> w
+

FHHof| 202 F5HH
15+ 12x = 16x—4
4x =19

19

x:z




Fo] Bmo| 24T ul4: 60 & Fotol A
12x — 40 = 72x — 54

12x — 72x = 40 — 54
—60x = —-14

7
webd o= o




13. 9A49] a7} vheA] Yt g2 sh=?

@ 5x-1=3x+3 @ x-2=4x-6-x

@)2(x-3) =826 @ —(x-2) = x—-2
®1-(x+1)=-2x+2

B

D©,0,®60=x=2
®2(x-3)=8x-6
2x—-6=8x-6
6x=0
webA x = 0 ofth.




e

ul
KO

ol

°ol-&

el
R

3

A

]2 4] ]

0

6(x — 2) 2 HLo]

: 32 5(x—1)

5x—5=06x—12




> - EE 1 o ol 62 Bk
3x-2(x+1)=6

3x—2x—-2=6

L x=38
x=82ax-6=x+a o] tHYsIH
8a—-6=8+a

Ta =14

La=2




® 11

1)4x-9=2x+1

SLX=9
Hi)ax—-3=x+2
SLba—-3=5+2
La=2

i),i)dNMat+x=2+5=7




® x=-2

=-10

®-

@ x=-15

® x=10

@ x=-2




18.

Ay

@ x=-3 @ x=-2

@ x=2 (@)xz?;
B

1941 7 - 1.4x = 0.3(2x — 1) + 1.3 9] 3fl=2

®x=1

70— 14x =3(2x—1) + 13
70 — 14x = 6x— 3+ 13
20x=70+3-13
20x = 60

L x=3




19.

ot

:<|)L_[4
i

ohe gAY

0.2x+0.4=-0.17x-0.34

@ x=-3 (@)x:—?

@ x=0 ® x=1

oF o] 100 < J5H4A
20x +40 = -17x— 34
37x = -T4

Lx=-2




sk Totofer.

g(x—3)=g—12x
8(x=3)=9-3(1-x)
8x—-24=9-3+ 3x
ox =30

Lx=6




21.

3x =4 sk 2
6
@x——ZO @ x=-12 ® x=-4
@ x=10 B x=14

3x—4+1_E_E

6 4 3
2(8x—4)+ 12 =3x-56
6x—8+ 12 = 3x— 56
3x = —60

Sox=-20







23. o AT A FollA 0.12x - 0.1 = 0.26 ¥ Si7F 22 A2

D 3x-6=0 @—2x+3:—3 ® x-2=11
@ x-5=8 ® 2x-6=10

B

0.12x - 0.1 = 0.26
12x - 10 = 26

12x = 36

Lx=3

@ —2x+3 = -394
—2x=-6, .. x=3




ahg o2

@)4

® 40

oFHof 10 & H5HH,
6x—20=x
5x = 20

Lx=4




ol Kar)

=1

=6,x=6 °o|th.

= 2
X

3x—6
3x—2




3x5‘4 _ g(x_z;) +29] o] 155 FoHH
3(3x—4) = 10(x—4) + 30
9x—12 = 10x — 40 + 30

o= =2




WA L1 2 22 o gy
2 3
10 7 10
O x== *=1o Q=7
10 7
ST T 10
1 2 -
s-1= 222 o o] 6 & Fapu

3x—6=2(5x+2
3x—-6=10x+4, 7x = -10
10

b = =—

7




28. Y 05(x+2) = 1.3+ 0.2x 2 Sf=?

® -1 @ 0 @1 ® 2

B

0.5(x+2) =13+ 0.2x
5(x+2) =13+ 2x
5x+10=13+2x
ox—2x=13-10
3x=3

Lox=1




B4 0.5(2x +3) = -0.3(x +5) + 0.4 & ZH?

D x=-1 @x:—2

@ x=-4 ® x=-5

® x=-3

oFHof 10 2 H3lH,
5(2x+3) =-3(x+5) +4
10x+15=-3x—15+4
13x = -26

SLox==2




30. FYPAHA 2x+3=5x-3Tax-1=x+62 f7t T2, a
o] gk& stof et

2x+3=5x—-3
2x—5x=-3-3
—3x= -6
SLox=2
ax-1=x+6°ll x=2E HYst a 9] 3 F3rh
20—-1=2+6
2a=24+6+1
2a =9
9
.'.azi




31.

(x=2):(bx=2)=1: 4
bx—2=4(x-2)
5x—2=4x-8

Sox=-6




